(/{m ‘ng'm, /Vlo O

C'on:}m'l'
Veloch‘y
Pfo ceo(u ré:
Co AS‘-\/
—

@jfl(

= { \ I l l | l |
L

Om — Im ZM 3h 4% Sn bw H b

OGRS

'l'imerf
Data
IR V3] B 77
0 0 ¥
-0 0.3¢ d(h) /
2.0 { 0.5¢ 3 L
7.0 0. +0 ) \( ‘<(|\, L
[.11
4;(()) [. SO v, e /
(o | et .
i1 G —
10| 250 T

1) Determine the slope of your line, including units.

2) Your graph is a straight line. What does that tell you about the motion of
the scooter?

3) What does the slope of a displacement vs. time graph represent? (HINT:
Look at the units)




